Uha  a® +a® + a¥ AR 237 22 A0

@ a® =+ (a® +a) @a5+(a2><a) ® a® x (a®> +a)

@ a®+a’xa ® d®xa?=+a

a® +a®+a=da"

271 = 20| B & 45 = (a® x a) ©]T}.




® 3

38-10 _




3. (Py)h =xyr LW at b+ F2?

@12 ou 016 @18 6

B

x3byabzb — x12y16zc

1)3h=12, b=14
ii) ab=16, 4a =16, a=4
i)b=c, c=4

kA g+ b + ¢ = 12 °]T}.




2

b
(=2x%)" (—;—x) = —2xyT A W, a+ b O] Ghe Ftolat,

o1 @ ® 6 @ 7 ® 8

B

9 xty" F A7t -2 0|BR a > b 0],
a,b & ohHTt &4 y7 o]B =2

a=3,b=2

La+b=5




5. 20x3x5% &9 29 #2712

@ 8 @9 @10 @ 11 ® 12

228 x3x 585 =22x3x(2x5)® =12x 108
w2hA] 10 2He] o] 4ot




6. a#0,b#00°]2x yZF AALD off g p0o-2) = plry) g0 &
7F

+
(Fs] stojet (x> y)

b2x
a®

® 2 @) ®
IR

4
bb 2x+2y
()

B \

aGE M pO=x) = (=) (6=x) — 42x-2yp2y-2x
2x—2y

a
- bh2x-2y

B (a)Qx—2y
b




D 4x3y3 @ 4x?yt @ —4x?y!
@ 2xty? @—2)62}’4

1
4x8y? x (——x9y6) X = 8x
4
—gx = 8x




8. x+y=30°]1,A=2% B=2» L AB 2| F2?

O 22 @ 24 @26 @ 28 ® 20

AB = 22X % 92y — 92x+2y _ 22(x+y) — 92x3 _ 96 o’l ];‘I_




H7]
© (-25)* = -58
@ 278 _ 311 @ 645 — 230
), ® ® 0,06
® 0,6.@




10. A% n ol st the A2 Aaha Qutelzl

12n 4 (_1)2n+ 14n 4 (_1)4n+ 16n + (_1)6n

1 ={(-1?}" =1rr=1928,

12"+( 1)+ 14"+( " +154+(-1)* = 1+1+1+1+1+1 =6

o|tt.




6 6 6 6 6 6 6 7
11 3643543 46 446 445 4 4 :(n%) ST

X
56+56+56+56+56 26+26

e (& -2 7|opEgol)

ON] @9 @11 @ 16 ® 17

. *
36436 +36=30x3=3"
56 + 56 + 56 + 56 + 56 = 56 x 5 = 57
46 446 + 46 + 45 =45 x4 =47
26 4 96 = 26 x 2 =27
o0 4o 3 4 45 + 48 + 45 4 45
56+ 50+ 50 +50 156 20120

_3_7x47—<3)7X(4)7
5T T 27T \5 2
(&=
T \5x2/ " \5

n 6

=
om+n=5+6=11




12.

2 = x A u), 320 2 x O] AGAFOE vhEA hehd 227

D x? @ x* @ @ x8 (@)xlo

326 — (25)6 — 230 — (23)10 — xlO




13.

12x" + 62%y% x (-207) = —4x® VM a + b °] & F5HA?

® 3 @ 1 ® 4 @5 ® 6

B

12x7 + 6x2y% x (=2xy") = —4x?
R S
a-24+1=2 La=3
b-2=0 SLb=2
“a+b=3+2=5




s

S}
=

a}

a_d
bc

(@, b) * (¢, d) =

14.

25 25
5 @-

DO -

o}l

(9] 6y
Avm_ynéx w0_7
| N S_y
I I
/N —
2y ©
o 2ﬂ3w2y
N
E Rl
| N——
N— X X
X | =
3y 4y_52x -~
S | RS
I I
SN—
I |
—
I
K
N—




15. 216 =3"(3"-1) & W, m+n ] 727

® 2 @ 3 @1 @ ® 6

216 =3>x23 =33x8=3332-1)=3"(3"-1)
m=3, n=2 m+n=>5




